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77.| 'y z4+y = |THSUIEII
r+y <z Yy

° Watch Video Solution

1 T Y
78./1 z+y vy |THsU3TIII
1 T x+y



https://dl.doubtnut.com/l/_Gg49ZJ3IAbdn
https://dl.doubtnut.com/l/_YePVFq8RTZH0
https://dl.doubtnut.com/l/_wuAmFadtmmpx
https://dl.doubtnut.com/l/_IwxfZuBmWv2H

° Watch Video Solution

79. facafide & femmsel & yWar d3d g ad &
a o B+7

B B v+a
v 7P atB

=B -7 -a)a-B)(a+tB+7)

o Watch Video Solution

80. fscoMide i fedwsel e a1 dga o a9 f«

r z? 14 pzd
y yv° 1+py’
z 22 1+ p2®

= (1 + pzyz)(z — y)(y — 2)(z — )

o Watch Video Solution

81. facailse e fedwsed & ydar agd g a3 fa

3a —a+b —a+c
—b+a 3b —b+c|=3(a+b+c)(ab+ bc+ ca)
—c+a —c+b 3c

[ &


https://dl.doubtnut.com/l/_IwxfZuBmWv2H
https://dl.doubtnut.com/l/_TrpG3cW81V96
https://dl.doubtnut.com/l/_UjP3U4ajkxee
https://dl.doubtnut.com/l/_igG7VcO3ROYM

[ W Watch Video Solution

82. f3cafide i fedmsel ©w ydar d3d fHo ad fa
1 1+4+p 1+p+gq

2 3+2p 4+3p+2q | =1

3 64+3p 10+ 6p+ 3¢

o Watch Video Solution

8. fscaorfise @ femmsel & Yot s9d g ad fa
sina cosa cos(a + 9)

sinf cosf cos(B+9)| =0

siny cosvy cos(y + 6)

o Watch Video Solution

84. fast Jet ySEt 12) Gl 33:
2 3 10 4 6 ) 6 9 20
—+—F+—=4,———+-—=1,—+ - — =2

T oy z r y =z r oy z

o Watch Video Solution



https://dl.doubtnut.com/l/_igG7VcO3ROYM
https://dl.doubtnut.com/l/_T9aAbhlO28n3
https://dl.doubtnut.com/l/_9JVRLxE9mZOT
https://dl.doubtnut.com/l/_mjtNhZvE4vkT

8. Aad a, b, ¢ nda dfes3a BI g I=? 3 f3calde
r+2 +3 x4+ 2a

r+3 z+4 z+ 2b|THS I

r+4 z+5 x4+ 2¢

A.O

B.1

D. 2x

Answer:

o Watch Video Solution

z 0 0
86.H3d x, y, z did fHed eH3fed Hitmrei Je 3t Afcan A = |0 y 0
0 0 2
o 8BTgH I
z ! 0
A y ! 0


https://dl.doubtnut.com/l/_UZxgiy3bx7Lq
https://dl.doubtnut.com/l/_UuRE5Hxrkqy7

© H Oo w o

Answer:

o Watch Video Solution

1 sin @ 1

87.76d A = | —sinf 1 sinf |,
—1 —sinf 1

A.det(A) =0
B.det(A) € (2, )
C.det(A) € (2,4)

D. det(A) € [2, 4]

0<6<2rde3


https://dl.doubtnut.com/l/_UuRE5Hxrkqy7
https://dl.doubtnut.com/l/_XHKah9POB702

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_XHKah9POB702

